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Attempt any four questions in all.

All questions carry equal marks.
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1.

The President of Riceland is very fond of rice and hence has given the license to produce
rice only to her own nephew, Mr. Brown. Even the international trade in rice is not allowed.
Following is the demand that Mr. Brown faces for rice: D=10-P. He faces a total cost, given
by C = 3+Q+0.5Q?. People of Riceland were revolting against this obsession for rice for
their President, which, one day, eventually resulted in opening up of trade in rice, at the
competitive world price level of 3 $. However, the obsession of rice for the President forced
her to limit the amount of rice traded in the market to one unit, and she gave the license to
trade to Mr. Brown only. Discuss the pattern of trade in rice for Riceland under free trade
and restricted trade situations. Compare the profits/losses of Mr. Brown under the
following four conditions and which will be the best scenario that he would like the
President of Riceland to go for: (a) No trade situation; (b) Free trade situation; (c)
Restricted trade, when from Riceland, only Mr. Brown can trade in the international
market; (d) Tariff that will leave the quantity imported the same as under quota limit of
one unit? If the President of Riceland is more concerned about national welfare, which of
the above four situations she would choose?
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2. (a) Two countries A and B produce five commodities. Labour is the only factor of

production. The unit labour requirements for each of the five goods in the two countries is
given below:

Commodities | Unit labour requirement in | Unit labour requirement in
Country A Country B

Apple 10 8

Wheat 2 20

Cloth 5 15

Dates 3 24

Cement 5 10

The relative wage in Country A is five times that of Country B. Determine the pattern of
trade between the two countries in the absence of trade costs. If trade costs of 100 percent
are added to wheat and to cloth how does the trade pattern change?

(b) Country X, which is a new entrant in the smartphone market, is planning to launch its new
smartphone in the international market. However, it has a threat that Country Y (which is
an incumbent) might launch a similar smartphone and can capture the international market.
Following matrix shows the payoffs of the two countries for launching the smartphone.
What is the amount of subsidy that Country X should give to its producers to deter the entry
of Country Y in the international market? Is this subsidy justifiable given that Country Y
is incumbent in the market? Discuss

Country X
Launch Do not launch
Launch (-10,-10) (150,0)
Country Y 1" ot Taunch (0,150) (0,0)
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. (a) Narrowland, Broadland and Wideland are the only three laptop producing countries in
the world. The three countries have the same production technology for every firm, and
face the same demand conditions. The annual sales of Narrowland, Broadland and
Wideland are 100000, 900000, and 400000 laptops respectively. Fixed cost and marginal
cost of production of laptops for each firm in each country are 10000 and 1000 respectively;



and the degree of responsiveness of each firm’s sales to its price, vis-a-vis other firms is
1/10. (i) Calculate the equilibrium number of firms in the three countries before trade. (ii)
What is the equilibrium price in these countries under autarky? (iii) Calculate the total
number of firms after the economies are opened up to trade and the equilibrium price. (iv)
How will your answer to the above parts change if the marginal cost of production of laptop
for every firm increases to 2000?

(b) A country produces two goods: Cars (using labour and machines) and Microchips
(using labour and computers). There is an exogenous increase in demand for microchips in
the world market. Explain income distribution effects of this change with the help of a
diagram.
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. (a) Pinkland and Blueland are two countries producing earphones, having the following
demand and supply conditions:
Pinkland: DD: Q¢ =100-20P
SS: Q*=20+20P
Blueland: DD: Q¢ = 80-20P
SS: Q°=40+20P




(1) Given this information, what will be the world equilibrium price and quantity
traded?

(i1) Given that the fixed cost of setting up a production chain of earphones by exporting
country in importing country is $15, and the cost of transportation is $0.5 per
earphone exported, which mode the exporting country will prefer and why:
exporting earphones or producing earphones in importing country itself? Give
reasons for your answer.

(b) An importer in India buys mobile phones from the US and sells them in the domestic
market. The current spot exchange rate between India and the US is Rs. 5000 for $100. The
importer can sell each phone in the domestic market for Rs. 15000, while his current
purchase price is $200 per phone. However, he does not have ready cash to pay until the
shipment arrives but by then the rupee depreciates such that he incurs a loss of Rs 200 per
phone. Calculate the new exchange rate.
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. (a) An imaginary open economy Azaria operates at full employment in the short run but
finds a temporary increase in the demand for its output in the world market. What policy
options does it have to return to full employment? How is the exchange rate affected?

(b) Monetary authorities decide to merge many commercial banks into four or five large
banks. Assess the efficacy of this policy.

(c) Bring out the difference between perfect asset substitutability and imperfect asset
substitutability in an open economy. The Central Bank of Hippoland undertakes a sterilized
purchase of foreign assets. With the help of diagrams, compare and explain the outcome of
the same under the assumptions of perfect and imperfect asset substitutability.
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. (a) Discuss the efficacy of fiscal and monetary policies under a fixed exchange rate regime,
characterized by perfect capital mobility, using AA-DD diagram.

(b) Firms exporting to Agriland are not willing to change prices despite a nominal exchange
rate depreciation in Agriland. How do you explain this phenomenon? Do you think that the
firms exporting to Agriland will behave in a similar manner if there was an exchange rate
appreciation in Agriland? Explain.

(c) Should the governments be concerned beyond the soundness of individual financial
institutions? What is your opinion in this regard in the context of the changing international
regulatory environment?
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